normalized x?

[[normalized x? probability ]

107 0.05f -+
10%F
E Entries + [Entries
_ M M 0.5259
107 §_ stzagev ° sffgev
107F
10°F r
.910@' JERRY: FPUL VPP SOV FOUE FPOT FPPLOPVR FOPN FVOE PP
I I
o @
09924 6 8 10 12 14 16 18 20 0% 01020304 0506070809 1
2 Prob(x?)
mmmmm DQM_original_originalvector_1000evt
e DQM_original_1000evt
— DQM_fitted4_1000evt
s DQM_fit_nocpe_1000evt
A2 -
E: :
— 1.8 Peeees EARRREE-EREEE Peeees
r\;( : M
(VAN NG i e ARl R
1.4
1.2F
§ CERE,
o.sf— --------------------------------
(e R PR E PP PR P PEP PRI PR
o L 1 1 1 1 1
K
o
A A 2r
i 2 1.8F-
% < 1.6F-
v Vo14f-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
2 o @
© ©
['4 @

-1
AR(track, jefl’[s)



	Contents
	Page 1


